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A a, e b, c,d
B (2) (3)
C (3d ) (4f )
Heff “B
/’L’eff J:Svg:20023 Heff
Heyr
M/eff
| | | tress 87, Jefs
V3t 1.63 2.83 2.60
Cr3t 0.77 3.88 3.80
Ni2+ 5.59 2.83 3.10
Cu?t 3.55 1.73 1.83
Pt 3.58 2.83 3.6
Ho?* 10.60 4.90 10.4
Tm3* 7.57 2.83 7.3
Yh3+ 4.54 1.73 4.5
D 2 F63+ (NH4)F€(SO4)212HQO [F6(010H8N2)3}(0104)3‘31’120
F63+ Heff 592/,LB
1.73uB mol
1N
Fe3t
E  Fe?t Fe3t



K m2A~2g~1]
(a) Fe’t Fet
Fe fepp Ty Say Shy B
(b) T
Fe

6.022 x 1023[mol "]
1.165 x 102°[J A='m] Fe
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8.006 x 10713 [J

1.381 x 10-23[J K=Y
55.847



